$9 0 ARFALRN L EHR DG 1128 £ R £

S-m:iBRyEHM [(PHA

Shn 5o

SR

e
LA =

[14 & [13 &
(& Bk FRE&ETERE X

(% XAy p @i rm o
(% Rfkz-@sa,[Jz=r o8

2 ﬁ% 5
RbF i | g % 2 i #R e L A
Lt f-_ v B e 2 i P ":‘P 5o s

g&.;t» [f]’;ﬁ;.a REELme

o SR RISk AU DL S o
7%%%@J%§&Ezémﬁ;§% h=

2. i,.«)isz,u]!j%‘,_rg{-%’l_.,.,& 3!3;4 ﬂ;{};i]_*%?y‘ RN
.PJ «\,AEQ_& °

:1\f<4w@( FROZEF % 0F 2 g kel
%ﬁ#ﬁﬂ a2 R R O 2 B R
REE 1 LED hn MU E - AE
fJﬂ—*b“ﬁiﬁ% FCFD] (R g & AT 4o e 2
Z3F 10% 5 *L)

DALFTH A e, i ) - "
g =2 VN SRR N A ER R VS B A L

Ffsmoasd 5457131&,,}%“@&%&%%‘&'1!

ﬂ‘\‘\: %%Hi\j‘\o

) -~ BrHFRZ BHER (§7Y)
L&A EBZ NI >R E5H2
LB ORB T EARER S T HS S T L

DALFCH Ay B EEARN BP0

2. f"zt%%j\? BygH A2 e mne = (3 R 1

Bz ek

L B R A AT LT AR
b -

WA B P (F B A 15 P (o HE)TE 2:305 THRY B s ARERRE BT mm%
“%?‘“?F-;,ﬁ B BARRLE o dop B ;f;\,;%—’s,gg-r_‘: 9:30-3:59 T M} 424 & HA

% AP RHFHLIRT] > T = 4:00 RAFFFRF KR o dob B % SR BF

%Fﬁ%iﬁﬁﬁl*é%ﬁl
Flo ™= 5:00 A4 P AR P 3

g p 2T = 4:00pF
w3 % SIS PHE R

%—IZQDEB"”'?}:\,.H&F&,;EB&&,T %__}1150()’3

CRRATE Ik AR R AR L4 -



